Meeting with Phillipe Lamberts
Economic trade-off



Revaluacio del marc. 1945-2000

Islandia 5437
Grecia 33,2
Portugal 137
Espanya 104
Finlandia 75
Italia 6,1
IHanda 54
Regne Unit 45
Suedia 42
Xipre 4.0
Franca 36
Malta 29
Moruega 29
Dinamarca 26
Austria 23
Belgica 18 Fontde lesdades: EUROSTAT, FAE, University of Balish Colum hiz i d'alres fonts pels tous de canvi historics
Luxemburg 16
P aisos Baixos 14
Alemanya 1,0
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Revaluacio del Marc Alemany respecte de la monedalocal 1948 — 1993 ("1 .0" representa que la paritat es manté)



F Depreciacio de la moneda de cada pais respecte del
12 MarcAlemany des de 1948 (es a dir, I'invers de laFigura 2)
4 ("1.0" representa que la paritat es va mantenir constant)
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Ha funcionat l'euro? (1)
Durant el creixement ho semblava
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Esp va fer els deures “debades”
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- inversio, + deficit !
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Parities, deficit and surpluses...

Internal demand
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Conve rgence process

* As the eurozone is a communicating vessels
scenario: better if others invest, better if | get
the taxes

* Race to the bottom, beggar-thy-neighbouir,
dumping

* Lack of aggregate demand, recession,
deflation, unemployment, poverty, populism...



Fiscal Union

* Without fiscal union, it’s quite clear that the
monetary union will never works

* But which union?
— Tax Harmonitzation
— EU taxation (FTT, CCCTB, ETS...)
— To guarantee aggregate demand
— To fix asymmetric shocks



Union of transferences

* Equalize GDP/capita is a moral will that goes
beyond the EU and does not guarantee
imabalances avoidance.

 |f the receivers’ internal demand grows over
their supply, the asociated loss of
competitiveness fixes or even increases its
dependency.

* Transformation union rather than
transferences union.



Question!

e Geexit and Brexit do not allow to think that
the fiscal and economic union is closer.

* Aincreasing divergence between a closer
eurozone and a light EU?



